
 25789
 FRONTIER 

 

With Chrome Bumpers 

Recommended Tools:

05-11 NISSAN

 25789
FRONTIER 

05-11 NISSAN

2005-11 NISSAN FRONTIER

  Parts List / Hardware: 
Phillips & Slotted Screwdrivers 1 Bumper Insert (7 Bars) 
5/16 Wrench or Nut-Driver 2 6-32 x 2 Machine Screws 
 2 6-32 Nylon Lock Nuts 
 2 #6 Flat Washers 
 2 1” J Hook Brackets 
   

Read and understand instructions before attempting installation  
 
NOTE: Vehicle must have a CHROME STEEL BUMPER 
 Use part number 25760 for vehicles with a painted plastic bumper. 
 

 
Step 1 
Remove the six fasteners holding the top of the 
grille in place. Pull the grille forward to access 
the mounting clips on each end; use a slotted 
screwdriver to unclip the two fasteners on each 
side. Now remove the grille by depressing the 
six clips holding the grille to the bumper cover.  

Step 2  
Install a machine screw into each mounting hole. From the back, slide a J hook bracket and washer onto 
each machine screw. Thread the Nylon Lock nuts onto the screws by hand. Center the billet into the 
bumper opening. Make sure the J hooks wrap around the grille mesh. Use a screwdriver and wrench to 
tighten the hardware. Do not over-tighten the hardware.  

  
Step 2  
Re-install the main grille assembly back onto the vehicle. 
Thank you for purchasing your T-Rex billet 
grille. T-Rex Truck Products Inc. 11/18/05 

 
 


